1. Transform the following differential equation into a transfer function and find the homogeneous solution to the differential equation from the transfer function
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2. Transform the differential equation in Problem #1 to state variable form.  If eAt = PeDtP-1, find eDt.  (It might be less work than you might think.)

3. Evaluate the following complex integrals where C is a circle enclosing 

z=-1.
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4. Which of the following series converge (use whatever method is appropriate):


[image: image5.wmf](

)

å

¥

=

0

5

3

k

k



[image: image6.wmf](

)

å

¥

=

0

3

k

k



[image: image7.wmf](

)

å

¥

=

0

3

k

k

k


_1164453737.unknown

_1164453805.unknown

_1164453995.unknown

_1164454000.unknown

_1164453862.unknown

_1164453787.unknown

_1164453332.unknown

